.

1) Esit aralikh noktalann yer aldin asafndaki sayi
dogrusunda B ile gostenilen nokta hangi sayiyr temsil
ctmektedir?

(In the following number line with evenly spaced points,
which of the following is point B?)

> d

==

5

B
N2 Bl O— D)2 E) -2

2) 3n+5 sayisi ¢ift 1se asafidakilerden hangisi tek sayidir?
(If 3n+S is an even number, which of the following is an
odd number?)

Ayn‘tn B)5nt3 O 2n-4 D)2n™+5 E)6n?

larinin  yerlen

arfiyor. Bu sayimn rakamlan
angisidir?

igit number are reversed, the

8 more than the original number.

n of the digits of this number?)

C) 12 D) 13 E) 14

i 'r‘

L - '-l'i = 2l ¢ L ol T JL)

iy o s comaiientp 8 o AW e S Shaea w'i\rﬂl

_| T | I_:i..,.-.- Il—,.,-._":'_:.r-r_.-. - qi F.J“-wﬂl . ‘-I|'I- 1'I' ﬂl: - d

4) abc
-
+dﬁf

4284

Yukandaki ¢arpma iglemine gore d+e-[ 1
kagtir?
(According to multiplication above, what

A)2 B) 3 C)4 )5

ore. b en ¢ok kagtir? |

o positive natural numbers, if 4a+b=122,
the maximum value of b?)

B) 117 E) 120

O118  D)119

6) (48)'. (25)° say1s1 kag basamaklidir?
(How many digits are the result of (48)". (25)°2)

A) 12 B) 13 C) 14 D) 15 E) 16
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7 i e R 1. N4 1

8 yesriile ilgili agagidaki bilgiler veriliyor 9. PK (? - )+ _2_|
Paydasindan 2 gikanildifinda yansina esit oluyor. 2+ % - 1+ (2+3)+ %

_Paymna 7 eklendiginde bir butin oluyor.
Buna gore, a + b toplamimn degeri kagtir? .
(The following information is given about the fraction ==

If we subtract 2 from its denominator, it is equal to its half
If we add 7 to its numerator, it becomes a whole.

So, what is at+b?)

A) 13 B) 14 015 D) 16 E)17

8) Asagidaki 1fadelerden hangilen y tir?

I. Ondalikl1 sayilarda basamak sayis1 artik¢a sayinin deger
artar.

II. Her ondahkh saymin rasyonel savi olarak bir karsihgi
vardir,

II1. Ondalikli sayilar her zaman 1 den kuguktir.

IV. Buttin devirhi sayilar rasyoneldir.

(Which of the following statements are incorrect?

L. As the number of digits increases in decimal numbers, the
value of the number increases.

II. Each decimal number is a rational number

IIL. Decimal numbers are always less thanil

IV. All the repeating decimals are rational)

A)l B)I -1l OI-1-1%
D)II-1V E) Hepsi(All of them)
9)

54 75 012

1,8 0,25; 0,03

igleminin sonucwasagdakilerden hangisidir?

_ch of ihﬁ@‘"ﬂ“'illg does the answer of
\{554,4_ 75 0)2 %

1.8 025 0,03

A) 35 B) 33 C) 31 D) 29 E) 27

isleminin sonucu agagidakilerden hangisidir?
(Which of the following does the answer operation above ”)

| | -1 -
A)z }3 C)2 )

11) Usli sayilarla, ilgili“asagidak jjfadelerden hangileri
yvanhstir?

I. Her sayimin sifininet kuvveti (isstt) 1°dir.

IT. Us artukga saymnin degefi her zaman artar.

I11. Ier say: tislt say1olarak ifade edilebilir.

IV. Uslii sayilarda bdlme islemi yapihrken tsler birbirine
bolimir

(Which of the following statements are incorrect about
exponentialnumbers?

I. The zero exponent of a number 1s equal to |

T If the exponent of a number increases, the value of the
number always increases.

HI. Each number can be written as an exponential number
IV. When two exponential numbers are divided, their
exponents are also divided each other,)

A) Yanhz I (Only I
D) Il -1V

B) Yanhz II (Only I)
E)I-II-1V

C)II-TI

12)~/5400 sayisinin yaklasik degerinin bulunmas; icin asagidaki
sorulardan hangisine cevap bulunmas: gerekir? '

(To find the approximate value of V5400, which of the
following problem should be solved?

A)V/3’iin yaklasik degeri kactir? Whatis the spproximate value of /3
B) V5in yaklasik degieri kagtu? What s the spproximate valne of /3
€)V/7 nin yaklagik degeri kagtir? What is the approximate vahue of /7
D)V6'in yaklasik defieri kagtir? Whatis the approximate value of /&
E)V11"in yaklagik degeri kagtir? What is the spproximate value of /11




13) x<3 olmak 0zere |[x-3|+x|+2x-3 ifadesinin esiti
asapidakilerden hangisidir?

(If x<3, then which of the following is equal to
|Ix-3+x|+2x-3)

A) x B) x+1 C) x-1 D) 2x E) 2x+1

14)
(3)-33)

(-6)7.(-3°)

(What is the answer of

1sleminin sonucu kagtir?

) i )
(639

4 5 2.
Ay B 9

in sonucu kagtir?

105 +0,003.107 ”
16.10% |
D)4 E)5

= x =Sy =¥7, =3

sayilann dogru siralamas) asagidakilerden hangisidir? !
(Which of the following does the correct order of x,y2?)

A) x(y(z B) z(y(x
D) z = ylx E) y{x{z

©) lylx

18) 5.8 a4

a*+2a’+4a T @+2a
ifadesinin en sade bi¢imi agagidakilerden hmmm
(Which of the following does the mmm--tm

EE'B 32-4 T) -
a*+2a’+4a T @+2a v F
A)l B) at+l C)at+2 D)a2 )

|
sy

oot el ..u'*:.;:u?jﬂ?

vl Yo minceoh it B JM-I #"‘-* &

tarealild coam ﬁﬂ. _ 'lt--#}- o

al '-'Il_. '“ —;H‘IJ I]r

Pl I#. "I ) |
s | _J
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19) (x+DI(X)=x+2x-5+3f(x+1) olduguna gore f(1) kagtir?
(If (x+DF(x)=x2+2x-5+3f(x+1) then what is the value of
f(1)?)

AL B2 01 D)-1  E)L
3 2 2

20) Asagida verilen grafiklerden kag tanesi bir fonksiyonun

grafif olabihr?
(How many of the following shapes can be a graph of a
function?

27! N

T e

B

Lr}

e

|

e

- B} AR

— =)

\-"

*

1

0
-1

«

=

-4 -2

onksiyonun tamim kiimesi A, gorintii kiimesi B
> ANB kiimesinin kag farkh tamsay: eleman

(The graph of f(x) is given above. If the domain of this
function is A and the image is B, then how many different
integer values have the ANB?)

A)l B) 2 03 D)4 E)S

23) log, 3=t ise, log, 2

22) Asagidaki ifadelerden kag tanesi polinom belirtir?
(How many of the following statements are polynomial?)

L V2x2+x-2

7 1
II. 4x° -5

1. 8
IV. Vx+4

V. "3-}':—2+EJ¢+\/.7_:

A) | B) 2 C)3

esinin t tirinden esiti nedir?
(If log, 3=t, then what is the log, 24 according to t
.o feiatation?)

R i 4 __L _.t..
3) 1+ C)-1 = D) 1+ 5 E)t+

w1 e

24) Asapdaki trigonometrik degerlerin igaretleri hangi

secenekte sirasiyla dogru verilmistir? i
(Which of the following does the correct answer er

L * TEUS T ";.'!

respectively, for the signs of the trigonometric

Sin 140°, Co0s220°, tan279°, cot315°

A)++++
D)---+
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25) cota 4 TSN ifadesinin dzdesi agagidakilerden
hangisidir? o0

(Which of the following does equal to cota + {l:::;u)?}
(242Smna) Sina (1+2Sina)

A) “sihia ®) 2o O Semta
(142Cosa) E (1-281na)

X) Sina ) Cosa

26) f(x)=Sinx+1 fonksiyonunun grafiginin |0,xt] arahgindaki
grafigi asagidakilerden hangisidir?
(Which of the following is the graph of f(x)=Sinx+1 in [0.2] ?)

A) 3 B)

55

.-"ji.—m“':.
f:’ \‘u
— 1 4 0
_#F“HH& 7 Ex
r. P £ 3
4 A
4 2.2 : 't_
D) -
7. » A
Fa Y
Fd Y
:d?d k'xx L
- 5

limitinin degen asagidakilerden

(Which of the following is the answer of %(Ii:hl ?)

A0 B) 1 C)2 D)3 E)4

28) Ixi-1 %

f(x)= ‘1‘
. x<0

fonksiyonu hangi x degerinde soreksizdir?
(For which x value, the function f(x) is discontinuous?)

A) -2 B) -1 )0 D}q

]

B
JNENENE
Yukanida grafigi verilen fonksiyonla ilgili olarak
asagndakilerden hangisi yanhstir?

(Which of the following is incorrect, according to graph
of function above?)

A) f(3)=3
B) lim f(x)=4
O) lim f(x)=2

x—3"

D) x=1 noktasinda fonksiyon strekli deildir
(The function is not continuous, for x=1)

E) f(0)=3
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30) (a,b) arahinda her x degeri igin tarevi sifir olan
fonksiyonun grafign agafidakilerden hangisidir?

(Which of the following does the correct answer for a
function with a derivative of zero, for each x in (a,b)?)

A)v| B) v|

-

L ]

L= o -
F
o
=
-

B -

£
e ()

C

E)y

== wm = B

LTI .

A len f fOI'lkSI}’UI'IU}?IH
o181 yanhistir?
incorrect with the graph of

yizilen teget x-eksenine paraleldir.
drawn at x=1 is parallel to the x-axis)
) noktasinda c¢izilen tegetin efimi -1 dir.
(the slnpe nf the tangent drawn at x=0 is -1)
D) (-1.1) arahfinda f fonksiyonu azalandir
(f is a decreased function in (-1,1))
E) x>1 i¢in f fonksiyonu azalandir
(for x>1, f is a decreased function)

32) AY

—;pﬁ ;

Yukanida y = x* egrisinin grafigi veri
gore, tarali bolgenin alani kag birimkaredir?
(The graph of y=x" is given below, what is
colored parts?)

A) 12 B) 27

ore, J‘ fx) dr mtegra]mm sonucu kat;ltl"?

e O3 D) 5 E)12

34) A(0,0), B(2,1) ve C(3,-1) noktalanindan gegen ¢emberin
denklemi nedir?

(What is the equation of the circle passing through points
A(0,0), B(2,1) and C(3,-1)?)

A) x*-y2-2x+y=0 B) x*+y2-2x-y=0
C) x*+y*-3x+2y+1=0 D) x2+y2-2x+3y-1=0
E) x*+y2-3x+y=0




i YABANCI OGRENCI SINAVI o)

35) 39)

Area I Areal E D

[l. Bolge 1. Bélge

Area TII Area V. " S5x % 5

III. Bolge IV. Bélge A B C
A(x,y) noktasi dik koordinat sisteminde III. Bolgede Sekilde m (@) =5x, m (ﬁﬁt) =7x ve m ( %
olduguna gore B(y,-x) noktasi hangi bolgededir? nedir? (What is x?)

(If the point A(x,y) is in the Area III in the coordinate

system, In which area is B(y,x)?)

A) I Bolge (Area I) B) 1. Bolge (Area II)

O) l11. Bolge (Area III) D) IV. Bolge (Area IV)

E) Orijin (Origin)

36) 2019 = x(mod$5) olduguna gore x kagtir?
(What is x?)

A)0 B) 1 ©)2 D)3

olan dogrunun denklemi nedir?

(What is the equation of the line passing through point

A(1,2) and p:rpendimhr to line 2x-3y-5=07)
1l 3;4-3?"'1‘@ {;

54__.4 .n_f’ ’tE\F.t,

M@'@H’

i | ' II' I._.
J.'_ i 'l.. I

| 4
.r!,,_

dan gegen ve 2x+3y-5=0 dogrusuna dik - D

A) 10 B) 11 C) 12

E) 4

AL ey

. c D

Sekilde m(A)=60°, m(D)=30°, [BC|=6 cm, |CD|=d4cm ve
[DF]L[AB] ise |AF|=x kag cm’dir?

What is |AF[=x?)

vt m1 ol m B

41) A

Sekilde [BDI=IDC), ABIHEC] ve m
acisinin 6lgusi kag derecedir? | B
(Whntkthnngbmmmqi JJTF’”’?

o 3 -1:_._ ”
.-.. A .___|_.. i }II

I * ;
- . 1 : , o T L id- 1 5 i B
C) 3x-2y-1=0 S .

=ty =
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42) B
X
5 N A
Sekilde [BN] agiortay, s (C) -s (A) = 10°ise s (BNA ) = x kag
derecedir?

(|BN] is angle bisector, what is x?)

A) 65 B) 75

C) 80

D) 95 E) 100

43) A

B B D

3|[EDI=|AEL |ABI=2 ve [BC]=12 ve |BDI=16 bi
t¢geninin alam nedir?
(What is the area of (ACE) triangle?

A)3 B) 4

yamukta venilen olgilere gore x +y kag

(Mﬂng to the isosceles trapezoid given below, what is
the x+y?)
A) 120 B) 160 C) 180

D)220  E)270

45) Sekildeki diizgiin alugende |AD[=4/3 br ise bu altgenin
gevresi kag br'dir?

(|AD|=4V3 is in the regular hexagon below, what is the
perimeter of this regular hexagon?)

E

A B

A)dv3 B)sV3 C

46) Sckildeki ABCD
AD|

annda venlenlere gore

oran nedir?

. . |ADJ
A BCD is a parallelogram, what is the ratio of EC| 7)
C
700
\/
A B
AL L 2
A) - B) 1 €)— D)2 E)3

47) ABCD bir dikdortgen [BE]L[EF], [BE|=3|EF|, |AF|=8br
ise (ABCD) dikdértgeninin alan kag br® dir?

(ABCD is a rectangle, what is the area of ABCD ?)

E

D
[

...
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48) Sekildeki ABC iggeminin ¢evresi 36 bridir ABC 50)

iiggeninin i¢ tefet gemberi ¢izilmigtir. I¢ teget ¢emberin A -
tiggenin kenarlanna degdigi noktalar sirasiyla D.E ve F'dir. VDR

|AF|=5 br ve [BD|=4 br1se |EC| kag¢ br'dir?

(The perimeter of ABC triangle is 36 br. The inscribed CAL » k

circle of ABC is drawn. The intersection points of circle

and the sides of ABC triangle are D, E, F respectively. =
What is |[EC|?) sltileri X,y ve z, dir. — = .5£ vex+y+z
A gore x kagtir?

Yukanda dizlemsel sekilde d/k dir. A,

(d//k, X = 2 and x+y+z=1500 hat is x?)
F E 3 3
A) 15 B) 30 D) E) 75
B D C
A)6 B) 9 C) 10 D) 12 E) 16 %
o]
0
(@
&
sekil asagidakilerden hangisidir?
(What is the following figure?)
O B B
ONE BN
SIEDEE B B

49)

D) [e H N
E) o] T M E

Sekilde bi ikbyyvanm daire gorilmektedir,
sy N i y alam 40 br? ise taral alan
» A e e e S52) Asagda verilen sekilleni inceleyiniz. Hangi sekil

e intersection of s -. es is section S and its area is digerieﬁndenfarkhdu? e o
40 br’. So, what is the area of colored section?) (Look at the figures below, which figure is different?) -

C) 30 D) 40 E) 50 A)
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53) Asapida Fatih’in bir hafta boyunca yapmig oldugu
telefon aramalanmn say1sim veren grafik gorilmektedir
(The following graph shows the number of phone calls
made by Fatih for a week)
Pazartesi (Monday) = s i s ¢ i
e e Yukanidaki iki sekil arasindaki iligkiye gore ag
3o (Tesday) - hangisiyle eslestirebilirsiniz?
Cargamba (Wedncsday) ﬁ- f-1— ~ L (According to the relationship betweer
e TSN TR TR . ma
Persembe (Thursday) Q0 Qo :b:wc; ;fhmh of the following figure
v elow?
Cuma (Fnday) =TT
Cumartesi (Saturday) e SN EEm #R
Pazar (Sunday) s =l S e )

Her E simgesi 2 aramay1 géstermektedir

Each symbol '_"T;f_ shows 2 phone calls.

Buna gore Fatith bir hafta boyunca toplam kag telefon
aramasi yapmmstir?
(How many phone calls did Fatih make during a week?)

A) 27 B) 30 C) 40 D) 50 E) 54

57) Asagda verilen sekillen inceleyiniz.
(Look at the figures below)

I. Sekil (Figure I) I1. Sekil (Figure IT)

[

L. Sekil ile 1. Sekil arasindaki iliskive benzer olarak
(Similar relationship between the Figure 1 and Figure 2)

I11. Sekil (Figure IIT)

%, <

ile iligkili olan sekil hangisidir?
¥ Which of the following figure relates to Figure II1?)
he following number should continue with the

number pattern above?) A) ?‘

482, 693, 714, 826, 937, ? S

D
A)148  B)203  ©)368  D)987  E)999 )®

10}
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58) Asagida verilen sekilleri nceleyiniz.

(Look at the figures below) o) _
I. Sekil (FigureT) 1. Sekil (Figure I ‘
Yukandaki 1ki sekil arasindaki ihiskiye gore asagidaki sekh

hangisiyle eslestirebilirsiniz?
(According to the relationship between two figures above,
which of the following figure relates to Figure 1117?)

I11. Sekil (Figure I1T)

3 6
T 13 9 |8
Ll e |
o T (R

for in the figure above?)
WU A)

=T R
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62) Asaida bir seklin onden, yandan ve stien izqmeuik
gorunigler verilmistir. Bu seklin gorintgt asagdakilerden
hangisidir?

(Isometric views of a figure from the front, right and top
are given below. Find this figure?)

Yandan(Right) Ustten(Top)

Onden(Front)

gndaki kiiplerin hangisinin acik halidir?
ing is the net of the figure above?)

B) & C) &
N Ol

:

64-65.  Sorular
cevaplanacaktir,
(In questions 64-65, find the correct answer in

accordance with the following shape)

asapidaki  sekil  kullamlarak

A F B
] 9 K

EK N
I M

D H

aresinin kenarlarinin
Diger karenin
orta noktalan

fizerinde yer almakta ve b

etmektedir.

of Ahe square ABCD is 8. The
FGH are on the midpoints of the
s of the square ABCD. The other square’s vertices are

the midpoints of the edges of square EFGH and in this

)4 D) 6 E)8

65) Dokuzuncu olarak olusan karenin alam kag birim
karedir?

(What is the area of the square formed in the ninth step?)
O 1

1Ly |
Vie B

9
D) —-

E)4
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66) 68) Asagida gorintiisii verilen bir yapinm farkli yonlerden
gorimimlerine iliskin ¢izimlerden hangileri dogrudur?
(Which of the drawings in different perspectives of the
16 14 ? figure below are correct?)
5 6 8 9 6 1

? igaretli yere agafidaki sayilardan hangisi gelmelidir?
(Which of the following does the question marks stand
for in the figure?)

A)> B) 11 C) 17 D) 19 E) 25

67)

3 1)

Bir sonraki sekil asagidakilezden hangisidir?
(What is the following figure in the next step?)

(4

g

\
y

Ustten gorinumu

-

A) Yalniz 11 (Only II)
C)I1-11I
E) Higbiri (None ofthem)

69) Asapida sa tarafta verilen sekillerden hangileri ile sol
tarafta venlen sekil kaplanamaz?
(Which of the figures given on the right side cannot cover

the figure on the left side.)
Sol Taraf (Left) Sag Taraf (Right)

N ‘.

A)I-2 B)1-3 ©2-4 D)3-4 E)1-4
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L4

70) Asagida sag tarafta verilen sekilden kag tanesi ile sol

73)
taraftaki sekil kaplanabihr? . |
(How many shapes are given on the right side can cover
the shape on the left side)

Sol Taraf (Left) Sag Taraf (Right) Yukandaki dizilise gore bir sonraki sekil asapidakilerden

/ \ hangisi olabilir?
A)2 B)3 )4

(According to the pattern above, what is

@ “@

71) Sol tarafta verilen sekil saat yoninde dondariildigiinde
numaralandinlmis sekillerden hangisi elde edilebilir?

(The figure given on the left side are rotated in clockwise,
which of the numbered shapes can be obtained?)

Sol Taraf (Left)
i | |
7 [ % i |
HH | Y o
1 2 3
A) 1 B)2 )3

4) Sekilde gosterilen birim kare ile tiggen kaplanmaktadir,
Uggen bu birim karelerden kag tanesi ile kaplanmigtir?

(The triangle is covered by unit. How many units are
used to cover the triangle?)

Birim Kare (Unit) Kaplanan $ekil (Covered Triangle)

A)7 B) 8 0)9 D) 10 E)1l
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75)

TN N .

Yukanda verilen pargalar kullamilarak olusturulan sekil
asagidakilerden hangisidir?

(Which of the following shape is formed using the above
parts?)

A) | B) 0)

D) E)

76) Asagidaki terazilerin {igli de dengede oldugung
terazide soru isareti ile gostenlen yere dh
gelmelidir?
(All three scales below are in balancedAec
of the following does the question 1 -
third scale?)

T7) E
o [
[s

16

11 -2-."5'_

19

Yukanda verilen sayils
hangi say1 gelmelidir?

=>

llllllllllllllllllll

- )
e Y TTTE RTINS ]

Yukanda kare seklindeki bir kagidin katlamp. bir noktadan
delinmesi asamalan gosterilmektedir. Kagit agildiktan sonra

asagidaki sekillerden hangisi olusur.

(The steps of folding and puncturing a square paper are
shown above. Which of the following shape forms after
the paper is opened?)

A)

(o]

(o]

B)

0)




79) Asagida venlen kartlardan hangileri yansima simetrisine
(reflectional symmetry) sahiptir?
(Which of the following cards have reflectional symmetry?)

I: I: N Hi:

A) Yalmz | (Only I)
D)II-11






